CONFIDENTIAL

Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL 4/10/0 Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

A	DEBRAIK CLINGAN MOTARY PUBLIC WICHITA, KS
Debra K. Clingan Date Commission Expires: March 27, 2010	
Notary Public: / Clingan	UIC Distribution APR 1 8 2008
20 <u>08</u>	Geologist Report Received KANSAS CORPORATION COMMISS
·	Wireline Log Received RECEIVED
Subscribed and sworn to before me this 10th day of April	If Denied, Yes Date:
Title: Dean Pattisson, Operations Manager Date: April 10, 2008	Letter of Confidentiality Received
Signature:	KCC Office Use ONLY
	KCC Office Hee ONLY
herein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
	and geologist well report shall be attached with this form. ALL CEMENTING
Kansas 67202, within 120 days of the spud date, recompletion, workov	rer or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-
INSTRUCTIONS: An original and two copies of this form shall be filed with	h the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita,
·	DOMET INU.
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Barber Docket No.: D - 28,492
12/21/2007 01/04/2008 02/18/2008	Quarter_SW Sec. 8 Twp. 32 S. R. 12 East V West
Other (SWD or Enhr.?) Docket No	Lease Name: CLARKE 1 SWD License No.: 33168
Dual Completion	Operator Name: WOOLSEY OPERATING COMPANY, LLC
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Plug Back Total Depth	Dewatering method used Haul free fluids and allow pits to dry
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 19,400 ppm Fluid volume 1250 bbls
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Well Name:	Drilling Fluid Management Plan ALLIJ (0 150)
Operator:	feet depth tow/sx cmt.
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from n/a
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
•	Amount of Surface Pipe Set and Cernemed atTeet
New Well Re-Entry Workover Oil SWD SIOW Temp. Abd.	Total Depth: 5092 Plug Back Total Depth: 4923 Amount of Surface Pine Set and Comented at 239 Feet
Designate Type of Completion:	
	Producing Formation: MISSISSIPPIAN Elevation: Ground: 1339 Kelly Bushing: 1347
Pilly C. Klaver ADD 1 0 2008	riela ivame:
Contractor: Name: Terra Drilling Co., Inc. CONFIDENTIAL Licenses: 33843	Lease Name: Well #:
Phone: (<u>316</u>) <u>267-4379 ext 107</u>	(circle one) (NE) SE NW SW
Operator Contact Person: Dean Pattisson, Operations Manager	Footages Calculated from Nearest Outside Section Corner:
Purchaser: Bluestem Gas Marketing / Plains Marketing	leet from E W (circle one) Line of Section
City/State/Zip: Wichita, Kansas 67202	teet from S (N)(circle one) Line of Section
Address: 125 N. Market, Suite 1000	
Name: WOOLSEY OPERATING COMPANY, LLC	County: BARBER

1211315

CONFIDENTIAL

Operator Name: W	OOLSEY OPERA	TING CO	MPANY, LL	.C Lea	se Name:	DIEL D		_ Well #:1			
Sec. 16 Twp. 3	4 S. R. 11	East	✓ West	Cou	nty:BARE	BER					
tested, time tool ope temperature, fluid red	how important tops a n and closed, flowing covery, and flow rates s surveyed. Attach fi	and shut- if gas to :	in pressures, surface test, a	whether long with	shut-in pro	essure reached	static level, hydro	ostatic pressu	res, botton	n hole	
Drill Stem Tests Take	•	Ye	s 📝 No		√ L	.og Formatio	on (Top), Depth a	and Datum	□s	Sample	
Samples Sent to Geo	ological Survey	✓ Ye	s 🗌 No		Nam Chas	-		Top Datum 1767 - 420			
Cores Taken ☐ Yes ✓ No				Toro			3624		420 2277		
Electric Log Run (Submit Copy)			1	Douglas 3649				- 2302			
List All E. Logs Run:					Swor	ре		4308		2961	
•					Hertl	ha	4334	- 2987			
Compensated I Dual Induction	Neutron Density	/ PE				issippian		4553	- 3206		
Cement Bond					Viola			4873		3641	
			P		Simp			4988	- 3	3641	
		Report	CASING I all strings set-o		-	ew Used ermediate, product	ion etc				
Purpose of String	Size Hole Drilled	Size	e Casing (In O.D.)	W	/eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used		nd Percent Iditives	
Surface	14 3/4"	10	3/4"	32	# / ft	239'	Class A	200	2% gel,	2% gel, 3% cc	
Production 7,7/8"		4	4 1/2" 10.5#		# / ft	4971'	60/40 poz	50		/4# celloflake	
		·					Class H	150		10% Gyp,1/4# 6# Gilsonite, .	
Purpose:	Depth			Ι		JEEZE RECORD	· · · · · · · · · · · · · · · · · · ·				
Perforate Protect Casing Plug Back TD Plug Off Zone (Stalnaker)	Top Bottom	lype	of Cement	#Sac	ks Used		Type and F	Percent Additives	S		
Shots Per Foot	PERFORATIO	ON RECORI	O - Bridge Plug	s Set/Typ	oe		cture, Shot, Cemen		rd	D	
	Specify Footage of Each Interval Perforated					(Amount and Kind of Material Used) Dept					
2	4 4573'-4606', 4553'-70' & 4544'-47' Mississippian 2 4620'-46' Mississippian					ACID: 4100 gal 10% MIRA FRAC: 566,706 gal slick wtr, 195,000# 30/70 Brady sd,					
							0 Brady sd & 15,				

TUBING RECORD	Size 2 3/8"	Set At 4693'		Packer n/a	r At	Liner Run	Yes ✓ No				
	d Production, SWD or E	nhr.	Producing Meth		Flowing	g 📝 Pumpir	ng Gas Lif	t Oth	er (<i>Explain</i>)	-	
Estimated Production	Oil I	3bls.	Gas	Mcf	Wate	er Bl	ols. G	Gas-Oil Ratio		Gravity	
Per 24 Hours	3.3		- 0 -			190		n/a		n/a	
Disposition of Gas	METHOD OF C	OMPLETIO	N			Production Interv	val				
Vented ✓ Sold (If vented, Su	Used on Lease bmit ACO-18.)	[Open Hole Other (Specif	√ P∈	erf. 🔲 C	Dually Comp.	Commingled	4544-4646'			

CE ATB

ALLIED CEMENTING CO., LLC. 31008

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
Dieh L Diel	Medicise lodge, KS.
DATE 1-5-08 SEC. TWP. 345 RANGE	CALLEDOUT ON LOCATION JOB START JOB FINISH 11:00 AM 1:30 FM 11:00 PM 11:45 PM
	COLINITY
	- Scottenson Rd., 21/2 E, BADE/ KS.
OLD ORNEW (Circle one) S I-to	,
CONTRACTOR TERRA #1	OWNER woolsey OferAting
TYPE OF JOB Production Casing	_
HOLE SIZE 7 %" T.D. 5092' CASING SIZE 4/2' 10.5 *DEPTH 4.975-'	CEMENT
TUBING SIZE DEPTH 7, 4 /S	AMOUNT ORDERED 755x 60:40:4 + 1/4 Flose4C,
DRILL PIPE DEPTH	150 st class H + 10% Gyf + 10% salt +6# kol- Sant + 14# Flosent +. 8% FL-160
TOOL DEPTH	
PRES. MAX 1600 MINIMUM 100	COMMON 45 A @ 11.10 499.50
MEAS. LINE SHOE JOINT 42' CEMENT LEFT IN CSG. 42'	POZMIX 30 @ 6,20 186,00
PERFS.	GEL3@ <u>16.6549.95</u> CHLORIDE@
DISPLACEMENT 79/2 Bbl 2% KCL WAY	
EQUIPMENT	150 H @ 13.40 2010.00
	Sup Seal 14 @ 23,35 326,90
PUMPTRUCK CEMENTER Thomas DeMarrow	Salt 16 @ 9.60 153.60
# 414 HELPER GASSUGNEN IAL	Kol Seal 900 @ ,70 630,00
BULK TRUCK # 364 DRIVER (ACC) FO A 0 2008	HO Seal 56 @ 2.00 112.00 FL-160 113 # @ 10.65 1203.45
# 364 DRIVER (ACCAGE 1 0 2000	@ @
# DRIVER	@
KCC	HANDLING 282 @ 1.90 535.80
REMARKS:	MILEAGE 19 x 282 x . 09 482,22
<u> </u>	TOTAL <u>6189.4</u> 2
1. Year Bottom, Break circulation Plug Pat-	·
- Reduction-150 Sx class H+102 6.8+100	SERVICE
Alt +6 "Kolsen(+/4" Plo sand + 82 FL-160, StoP	DEPTH OF JOB 4, 975
unds, wash fund+ lines, Release Plus start	PUMP TRUCK CHARGE 1750.00
Flort held, 7:5/10ced v/ 19/274 23	EXTRA FOOTAGE@
Clart held, 7:3/ Aced v/ 79/17/ 23	B.00 111,00
	MANIFOLD @
•	Head Kintal 1 @ 100.00 100.00
CHARGE TO: woolsey Ofer Ating	
•	TOTAL 1964.00
CITYSTATEZIP	4 // PLUG & FLOAT EQUIPMENT
	7 · C PLUG & FLOAT EQUIPMENT
	AFU FLATShoe 1 @ 385.00 385.00
	1 @ 385.00 385.00 LATEL DOWN Pluy + BAFFLE 1 @ 360.00 360.00
To Allied Cementing Co., LLC.	Turbo (12+15) 13@ 60,00 780,00
You are hereby requested to rent cementing equipment	Scratchers 28@ 60,00 1680,00
and furnish cementer and helper(s) to assist owner or	ANY APPLICABLE TAX®
contractor to do work as is listed. The above work was	WILL BE CHARGED
lone to satisfaction and supervision of owner agent or	UPON INVOICING TOTAL 3205.00
contractor. I have read and understand the "GENERAL	SALES TAV (IF A p.)
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
All FAIL	TOTAL CHARGES
RINTED NAME HIER T. Dick	DISCOUNT IF PAID IN 30 DAYS RECE
0, 0, 0	KANSAS CORPORAT
IGNATURE (Which the state of t	
	ADD 4 o

APR 18 2008

ALLIED CEMENTING CO., LLC. -31305

REMIT TO P.O. BOX 31	SERVICE POINT:	
RUSSELL, KANSAS 67665	Medicine lodge	:
DATE 12-22-07 SEC 19 TWP, RANGE W	CALLED OUT ON LOCATION JOB START JOB FINISH AM	. 4
DATE 12-22-07 /2 345 / W	1:00 Am 3:00 Am 8:00 Am 8:30 FT	
LEASE Dich L. WELL HOCATION Nedici		
OLD OR NEW Circle one) Suth an 281	to Fott Canyon Rd. 2 1/4 E, 5/5	
CONTRACTOR Terra Rig #1	OWNER Woolsey Operating	
TYPE OF JOB, Sur Face	OWNER WOODSEY OPERATING	
HOLE SIZE 14 74 T.D.	CEMENT	
CASING SIZE 10 3/4 X 32 DEPTH 237	AMOUNT ORDERED	
TUBING SIZE DEPTH	200 sx Class A+3/1/4 +21/gel	
DRILL PIPE DEPTH TOOL DEPTH		
PRES. MAX MINIMUM	COMMON 200 A @ 11.10 2220.00	
MEAS. LINE SHOE JOINT	POZMIX@	•
CEMENT LEFT IN CSG. 15'	GEL 4 @ 16.65 66.60	
DISPLACEMENT 2194 Bbls Freshwater	CHLORIDE 7 @ 46.60 326.20	
EQUIPMENT	ASC@	
EQUIFMENT	@	
PUMP TRUCK CEMENTER Carl RaldingCO	LEIDEIM @	r.
#.343 HELPER Steve Klamen	<u>~~~~~</u> @	
BULK TRUCK	PR 10 20 @	
# 389 DRIVER Wanny Wright BULK TRUCK	VCC @	
# DRIVER	@	
	HANDLING 21/ @ 1.90 400.90 MILEAGE 19 x 21/ x. 0 9 360.81	
REMARKS:	TOTAL 3379.5/	
Run 223' 1034 casing +14' 888) IOIAL 23/7/3/	*
Landing Joint . Break circulation	SERVICE	
with Rig Mix 200 sx A 3+2		
Displace with 21 3/4 Bbb Water	DEPTH OF JOB 237	
Letur 15' Coment in Casing.	PUMP TRUCK CHARGÉ 815.00 EXTRA FOOTAGE @	
ementalia circulate	MILEAGE 19 @ 6.00 114.00	
	MANIFOLD@	
	<u> </u>	
11/2/ 100	<u> </u>	
CHARGE TO: Woolsey Operating	TOTAL <u>029.00</u>	
STREET	TOTAL GOLLO	
CITYSTATEZIP	DAVIO O DA O AM POLITINA	
	PLUG & FLOAT EQUIPMENT	
To Allied Cementing Co., LLC.		
You are hereby requested to rent cementing equipment		
and furnish cementer and helper(s) to assist owner or	ANY APPLICABLE TAX	7
contractor to do work as is listed. The above work was	WILL BE CHARGED TOTAL	•
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	UPON INVOICING	•
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)	
/ House the constitution is a fine to relacistic.	TOTAL CHARGES	•
PRINTED NAME Jun Wangico	A TO	**************************************
A ANTIED WAINE - WITH LIKE MARKETS		ECEIVED PORATION COMMISSION
	TOO CONF	C. C. I. I. C. T. COMMISSION

fan Wenriel

APR 18 2008